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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1 T1-1

Leon Is selling candy bars for a school fundmiser. He raises $3.00 for each candy bar he sells. The graph shown below represents the total
aniount of monay, in dollars, Leon has ralsed based on the number of candy bars ha has sold,
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The pattorn sontinges,
A, Which axis represents ihe number of candy bars sold?
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B. Wrile \he ardarad pair that represents the amount of maney Leon raisos for seliing § candy bars.
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C. Explain why it Is not possible for any of the points on the graph to have a
y-coordinate of 77.

the y caordlinate only goss up 1o 20
I35 1000

JLast year, Leon raised a total of $240 from his candy bar sales. This year, his goal is to raise at least 2.5 times hat amount.

U, What is the fewast candy bars Laon needs 1o soil 1o reach his goal for this year? Show or axplain all your work.
3 candy bars are the fewest
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1

- MATHEMATICS SECTION 2

51, Leonis selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.
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The pattem continues.

A. Which axis represents the number of candy bars sold?

g NG

B. Wirite the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.,
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1
T1-2

MATHEMATICS SECTION 2.

51. Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.,
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Last year, Leon raised a total of $240 from h|s candy bar sales ThlS year, hlS goal is
to raise at least 2.5 times that amount.

D. What is the fewest candy bars Leon needs to sell to reach his goal for this
year? Show-er-axpiain all your work.,



csloan
Text Box





PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1

T1-3

amount of maney, in dollary, Leon has raised based an the aumber of candy bars ha has sold,
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The pattern continues,
A. Which agis represents 1he number of candy bars sold?

B. Wrile the ardered pair that represents the amount of money Leon raises for selling 6 candy bars,
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C. Explain whr it is not possible for any of the points an the graph to have a
y-coordinate of 77.

At is not possible to have a y-coordinate of 77, | know this baecause they
‘axls s counting by two's and 77 wont fit into fwo. For axample, if you stast .
‘counting .. two,four,six.eight, You can clearly tell that it skipped seven i
because seven gan not fif inlo two.

FLS R o

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goa! is to raise at least 2.5 times that amount.

0. What is the fewest candy bars Leor needs (0 seil to rencls his goal fec this yaar? Show or explain alfl your work.
The fewest number of candy bars that ha needs to sell is 600, t Know this

‘because that's right on the dot of his goal, if Leon wanis (o succeed, he

‘must reach at least 600 candy bars io sell throughout the whole year. If he

does not reach 600 candy bars in a year, he will not reach his geal for the

‘year,
K € 1Dy

Leon Is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar he sells. The -graph shown below represents the fotal




PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1
T1-4

[ MATHEMATICS SECTION 2

§1. Leonis selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money; in dollars,
Leon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the number of candy bars sold?

The Y axig

B. Wirite the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1
T1-4
| MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.
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Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount.

D. What is the fewest candy bars Leon needs o sell fo reach his goal for this
year? Show or explain afl your work.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1
T1-5

- MATHEMATICS SECTION 2

51, Leonis selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.,

Leon’s Candy Bar Sales
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The pattern continues,

A. Which axis represents the number of candy bars sold?

o Al

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars,,

e
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1
T1-5

- MATHEMATICS SECTION 2

51.  Continued. Please refer to the previous page for task explanation,,

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.;

wy s,

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount,

D. Whatis the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work,
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1
T1-6

| MATHEMATICS SECTION 2
51, Leonis selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.

Leon's Candy Bar Sales
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The pattern continues.

A, Which axis represents the number of candy bars sold?
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B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1
T1-6

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.,
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Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount. :

D. What is the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work.

(?é Ca'AM bars



csloan
Text Box


PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1 T1-7

| Leon is selling candy bars for a school fundraiser, He raises $3.00 for each candy bar he selis. The graph shown below represents the lota‘
Famount of monay, in dollars, Leon has raised based on the number of candy bars he has soid,
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The pattern continues,
A, Whith axis reprasents the number of candy s gold?

Tha X axls tells the number .
‘af candy bors sold,

B. Write the orderpd pair that ropresents the amouni of monsy Leon ralses for salling 6 candy bars,
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c, Explasn wh Il is not posslble for any 0{ the polms on the graph o have a
y-coordinate of 77.

;EEEBUEG if you Keep continuing the patein by lwo,you wouldn't eount to 77
‘because it's an add number,
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Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is {o raise at least 2.5 times that amount.

0. What is the fewaest candy bars Leon needs (o sell Lo reach his goal for this year? Show or explain all your weork.

The fewest numbers of candy bars be needs 1o sell to reach his goal is 120
‘bars of candy 1dlitd 5240 his earmings last yoar % 1.5 how misch ha :
wants lo increse his goal by and got 360.then | did 380 + $3.00 per

bar o get 120 bars as his goal,
?!! ’1%‘!’!{1
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1 T1-8

Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar he sells. The graph shown belou
ameunt of money, in dollars, Leon has raised basad on the numbaer of candy bars he has sold.

Leon's Candy Bar Sales
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The pattern continues.
A. Which axis rep«esenls the number of candy bars sold?

112 S s/elllng:4

B. Wrile the ordered pair that represants the amount ¢f money Leon raises for selling 6 candy bars.
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C. Explain wh 1y it is not possible for any of the points on the graph to have a
y-comdmata of 7
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Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is to raise at least 2.5 times that arr

D. What is the fawast candy bars Leon needs to sell to reach his goal for this year? Show or explain all your work.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1

[ MATHEMATICS SECTION 2

51. Leon s selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the.number of candy bars sold?

X~ oxo

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1

T1-9

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77,

Deceze The cosnk Qees Op by s
ond, T8 cAd QY @ien Yine, tha

s,

— o i i — — — A

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount,

D. Whatis the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work.,
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1

F MATHEMATICS SECTION 2

51.. Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dolfars,
Leon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the number of candy bars sold?
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B. Wiite the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 1

| MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

C Explain why it is not possible for any of the pomts on the graph to have a
y-coordinate of 77.

L ol
Youl wm\\ &\i&b‘u\\;’f% 3 doss

Last Yyear, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount.

D. Whatis the fewest candy bars Leon ne%ciat—obs\ell to reach his goal for this
year? Show or explain all your work.
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set One

Subject: Math Item: Leon's Candy Bar Sales Grade: 5

Name

Number Score Notes

T1-1

T1-2

T1-3

T1-4

T1-5

T1-6

T1-7

T1-8

T1-9

T1-10
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